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QUESTION 1

Which two are true about the Data Recovery Advisor? (Choose two.) 

A. It can be used when a database IS MOUNTED 

B. It can be used when a database IS OPEN 

C. It can be used only with databases that are running in ARCHIVELOG mode 

D. It can repair only databases for which RMAN backups exist 

E. It can be used to take RMAN backups 

F. It can be used to validate RMAN backups 

Correct Answer: DF 

 

QUESTION 2

These are points that describe the contents of different memory components: 

1: Descriptive information or metadata about schema objects that are queried by using SQL statements 

2: The runtime area for data manipulation language (DML) or data definition language (DDL) statements 

3: Results of SQL queries and PL/SQL functions 4: Executable forms of SQL cursors, PL/SQL programs, and Java
classes 

5:

 The information necessary to reconstruct changes made to the database by a transaction Which of these will be stored
in the Shared Pool if the necessary configurations are done? 

A. 

1 and 2 

B. 

2 and 5 

C. 

1,3, and 4 

D. 

3,4 and 5 

E. 

1,2,3 and 4 
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Correct Answer: C 

 

QUESTION 3

Which two statements are true about Shared SQL Area and Private SQL Area? (Choose two.) 

A. Shared SQL Area will be allocated in the shared pool 

B. Shared SQL Area will be allocated when a session starts 

C. Shared SQL Area will be allocated in the large pool always 

D. The whole of Private SQL Area will be allocated in the Program Global Area (PGA) always 

E. Shared SQL Area and Private SQL Area will be allocated in the PGA or large pool 

F. The number of Private SQL Area allocations is dependent on the OPEN_CURSORS parameter 

Correct Answer: AF 

 

QUESTION 4

You configured the Flash Recovery Area for your database. The database instance has been started in ARCHIVELOG
mode and the LOG_ARCHIVE_DEST_1 parameter is not set. 

What will be the implications on the archiving and the location of archive redo log files? 

A. Archiving will be disabled because the destination for the redo log files is missing 

B. The database instance will shut down and the error details will be logged in the alert log file 

C. Archiving will be enabled and the destination for the archived redo log file will be set to the Flash Recovery Area
implicitly 

D. Archiving will be enabled and the location for the archive redo log file will be created in the default location
$ORACLE_HOME/log 

Correct Answer: C 

 

QUESTION 5

The TRANS_SUMMARY table contains product-wise transaction details that get updated with every transaction in the
system. Each row has cumulative transaction details of a single product and every product is identified by a product
code, which is the primary key. 

As part of the archival process, the company wants to transfer the rows in the TRANS_SUMMARY table to the
TRANS_SUMMARY_DUP table at the end of every quarter of the year. Along with existing products, the company deals
with many new products during every quarter. 

Which method is best suited for this quarterly data transfer? 
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A. Using the MERGE command 

B. Using the SQL*Loader utility 

C. Using the correlated UPDATE command 

D. Using the INSERT command to perform bulk operation 

Correct Answer: A 

 

QUESTION 6

Note the functionalities of various background processes: 

1: Perform recovery at instance startup. 

2: Free the resources used by a user process when it fails. 

3: Cleanup the database buffer cache when a process fails. 

4: Dynamically register database services with listeners. 

5: Monitor sessions for idle session timeout. 

6: Cleanup unused temporary segments. 

7:

 Record the checkpoint information in control file. 

Which option has the correct functionalities listed for a background process? 

A. 

Checkpoint (CKPT): 1, 2, 5 

B. 

System Monitor (SMON): 1, 6 

C. 

Process Monitor (PMON): 4, 6, 7 

D. 

Database Writer (DBWR): 1, 3, 4 

Correct Answer: B 

 

QUESTION 7

In which situation would you use static database registration for a listener? 
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A. When multiple databases are to be registered with the listener 

B. When DBAs need to connect remotely to start up the database instance 

C. When users need to connect the database instance using the host naming method 

D. When the database instance that is to be registered with the listener is configured in shared server mode 

Correct Answer: B 

 

QUESTION 8

View the Exhibit. 

You are creating an additional database by using the Database Configuration Assistant (DBCA). You opted to create a
General Purpose database and during the database creation realize that the Block Size field is not enabled. 

What could be the reason for this? 

A. You have chosen the File System option as the storage option. 

B. You have chosen the Automatic Storage Management (ASM) as the storage option. 

C. The data block size can be increased only when DBCA is invoked from Oracle Universal Installer (OUI). 

D. You are using General Purpose template and not the Custom Database template to create the database. 

Correct Answer: D 
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QUESTION 9

You notice that the performance of the database has degraded because of frequent checkpoints. Which two actions
resolve the issue? (Choose two.) 

A. Disable automatic checkpoint tuning 

B. Check the size of the redo log file size and increase the size if it is small 

C. Set the FAST_START_MTTR_TARGET parameter as per the advice given by the MTTR Advisor 

D. Decrease the number of redo log members if there are more than one redo log members available in each redo log
group 

Correct Answer: BC 

 

QUESTION 10

What can you achieve by implementing reverse key index? 

A. Reverse the bytes of each column indexed including the row ID 

B. Store a bitmap for each key value instead of a list of row IDs in the leaf node 

C. Prevent contention on the highest leaf block when using sequences to generate keys 

D. Remove repeated key values from the index to fit more index entries in a given amount of disk space 

Correct Answer: C 

 

QUESTION 11

In your database: 

SGA_TARGET = 270M 

PGA_AGGREGATE_TARGET = 90M 

The MEMORY_TARGET and MEMORY_MAX_TARGET parameters are currently not configured. 

You execute the command: 

ALTER SYSTEM SET MEMORY_TARGET = 400M; 

What is the outcome and why? 

A. The execution fails because SGA_TARGET and PGA_AGGREGATE_TARGET are already configured 

B. The execution is successful and automatic memory management is enabled 

C. The execution is successful but does not enable automatic memory management because the
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MEMORY_MAX_TARGET parameter must be configured to a value greater than MEMORY_TARGET 

D. The execution fails because the MEMORY_MAX_TARGET parameter must be configured to 400M before
configuring the MEMORY_TARGET parameter 

Correct Answer: B 

 

QUESTION 12

Which two statements are true regarding the SGA_TARGET initialization parameter? (Choose two.) 

A. It can be increased up to the value of the SGA_MAX_SIZE parameter. 

B. Increasing the value of the SGA_TARGET parameter distributes the increased memory among all the autotuned
components. 

C. Reducing the value of the SGA_TARGET parameter deallocates memory from both autotuned and manually sized
components. 

D. Increasing the value of SGA_TARGET up to the value of SGA_MAX_SIZE disables the automatic shared memory
management feature. 

Correct Answer: AB 

 

QUESTION 13

You have to create a table, STUDENTS, with the columns: STUDENT_ID, STUDENT_NAME, 

DATE_OF_BIRTH, and COURSE_ID. 

The following constraints have to be enforced on this table: 

1) Each student must be uniquely identifiable by the STUDENT_ID. 

2) STUDENT_ID column should not be left blank. 

3) The student should not be less than 15 years of age. 

4) The student can only take a course that is specified in the COURSE table in the database. 

Which three constrains must be explicitly enforced on this table? (Choose three.) 

A. check constraint on the COURSE_ID column 

B. foreign key constraint on the COURSE_ID column 

C. check constraint on the DATE_OF_BIRTH column 

D. unique key constraint on the STUDENT_ID column 

E. not null constraint on the DATE_OF_BIRTH column 

F. primary key constraint on the COURSE_ID column 
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Correct Answer: BCF 

 

QUESTION 14

Which two types of information can be found in the alert log? (Choose two.) 

A. instance recovery details 

B. values of all initialization parameters whenever an instance is restarted 

C. a record of all DDL statements performed by non-DBA users 

D. critical errors encountered by background processes 

E. a record of all actions performed by SYS and SYSTEM 

Correct Answer: DE 

 

QUESTION 15

You execute this command to drop the ITEM table, which has the primary key referred in the ORDERS 

table: 

SQL> DROP TABLE scott.item CASCADE CONSTRAINTS PURGE; 

Which two statements are true about the effect of the command? (Choose two.) 

A. No flashback is possible to bring back the ITEM table. 

B. The ORDERS table is dropped along with the ITEM table. 

C. The dependent referential integrity constraints in the ORDERS table are disabled. 

D. The dependent referential integrity constraints in the ORDERS table are removed. 

E. The table definition of the ITEM table and associated indexes are placed in the recycle bin. 

Correct Answer: AD 
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